Morning Shift

Which of the following are physical
components of environment ?

(1) water, soil, wastes, radiation

(2) plant and animal life

(3) customs, culture, habits, income
(4) economics, funding, money

Faffead & ®F ¥ @@ & 9ifds
qH 5 ?

(1) ey, fgt, soferse, faferor

(2) drer s Ty Sshae

(3) Tt g5pM, rad,

(4) sreverrer, A, o=

The definition of safe and wholesome
water includes all of the following,
except

(1) free from pathogens

(2) not usable for domestic purposes

(3) free from harmful chemical
substance

(4) free from colour and odour

qfea ofiv w=ey qer AT giewrer §

e & & o F smmEr oof

artaer 2

(1) rrre= & qFT

(2) =gt F fow avr T

(3) =T TEEEE q@Td ¥ gad

(4) T g ¥ AE

How many litres water per capita daily is
considered as an adequate supply to meet
the needs for all urban domestic purpose ?
(1) 50-100 litres (2) 100-125 litres
(3) 150-200 litres  (4) 250-300 litres
aft egft WY WAl hT Sl wr
T FA & fou s wfd =T A
PRy S #1 AT A AR ST 2 2
(1) 50-100 ferex (2) 100-125 ferex
(3) 150-200 ferex  (4) 250-300 forex

According to RNTCP, a person with any
of the symptoms and signs suggestive of

weiglit 1055, ndelirnupLysis diiu diy
abnormality in chest radiograph is called
as

(1) presumptive extra pulmonary TB
(2) presumptive pediatric TB

(3) presumptive pulmonary TB

(4) presumptive DRTB

s ua & o . ft. (RNTCP) ¥ T,
= w1 T.B. &1 F5 ff uF e 4v
Thd S 2 BT dF FF ATl @il
T H  UaE, EEENM T T
WREwTE # BT smmHTEar #r o

FEd € ?

(1) warfaa st gogea ..
(2) warfea areftFrar &.6.

(3) = pogefE &F.4T.

(4) wwrfaa DR TB

A TB unit under RNTCP is established at
the rate of one per

(1) 5,00,000 population
(2) 2,50,000 population
(3) 2,55,000 population
(4) 3,00,000 population

g .. .. (RNTCP) # d=d
A, zwe 9@ U U H X
q e §

(1) 5,00,000 strE=AT
(2) 2,50,000 strHE=AT
(3) 2,55,000 strEEAT
(4) 3,00,000 StrHE=AT
The Infant Milk Substitutes, Feeding
Bottles and Infant Foods Amendment

Act was passed and came into action
since

(1) 1%tJanuary, 2001
(2) 1tJanuary, 2002
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(3) 1January, 2004

(4) 1%tJanuary, 2005

faer % gg & fOwew, gg fi9 & T
v fogp smEw Hergw stfafEw @R
T s s =T\ Aty ¥ sefaRr § e
(1) 1 s=a, 2001

(2) 1 =T, 2002

(3) 1 s==, 2004

(4) 1 <&t 2005

The Infant Milk Substitutes, Feeding

Bottles and Infant Foods Amendment

Act was aimed to achieve one of the

following goals by 2007 :

(1) improving safe deliveries

(2) reduce prevalence of severe under
nutrition in children

(3) improve the vaccination rate in the
children

(4) reduce infant mortality rate

forer g & fAweq, gg fiw & dae 6w

fargr smeEw wHeraw  sttafeEw #2007

TH 9 @t § ¥ U F AT FwEA AT

IZYT AT :

(1) Ty & g

(2) =gt & Wiz FOUU F OTER FH
hIAT

(3) =gi# & o H R

(4) fag¥ag 3T F FA FAT

An arthropod or any living carrier that

transports an infectious agent to a
susceptible individual is called as

(1) vector (2) virus

(3) bacteria (4) fungus

UE AT AT A AT SfEd aew S
THFHE TS  H  HASl FTHT OH
TIFTART FdaT 8, 39 Fgl a1 g

(1) rmETEs (2) famm

(3) sframy (4) =%
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10.

11.

12.

The vertebrate type of vectors are
(1) mice, rodents, bats

(2) flies and mosquito

(3) fleas and cockroaches

(4) ticks and mites

FAThT THT F TETATEF o

(1) e, F, e

(2) wfFEat i 7==%

(3) faeg s faerrg

(4) ==ETsiT a=hit

Cholera disease is caused by the
(1) V. cholerae

(2) human immuno virus

(3) S.typhi

(4) human papilloma virus
ST TRT &7 RO g

(1) . Frer

(2) =AF THEAT AT

(3) wH. == h

(4) =g@= AT AR

The incubation period of the cholera

disease is

(1) 15-20days (2) 10-15 days

(3) 5-10days (4) 1-5days

TIT TN T IgaAd AT §

(1) 15-20 fa= (2) 10-15fe=

(3) 5-10fe= (4) 1-5f=

The primary health-care level s

provided by the agency of

(1) multipurpose health
village health guides

(2) community health centres

(3) specialized doctors and nurses
(4) practioners and regional hospitals

gt ey IEWTe R usE gro
TaT T AT F 2
(1) aggqs wmweT  =fth, g w=weey

workers,

LIESS
(2) wTHETRE T@TeT Fg
(3) foras steFeat w74t
(4) ot sie yefors sreaaret



13.

14.

15.

Probability of dying between birth and
exactly one year of age expressed per
1,000 live births is defined as

(1) under five mortality rate

(2) infant mortality rate

(3) maternal mortality rate

(4) child mortality rate

T Y 9 F UF AT & 49 H g
& HATEAT F Ifd 1000 SAfET AT F
&7 # ufearfuaq fFar @ g

(1) == & =1ehia g X

(2) fag 979 =

(3) "I =

(4) srHgyg =X

The sub-centre should be established on

the basis of the population i.e.,

(1) one sub-centre for every 5000
population in general

(2) one sub-centre for every 3000
population in general

(3) one sub-centre for every 2000
population in general

(4) one sub-centre for every 1000
population in general

TAEEIT F WYY G ITHeE I TTIAT

g =TT, T9T
(1) I\ &7 ¥ Y% 5000 Maret *

o T SuEm

(2) @I ®T 7 YAF 3000 SMETEr F
o T suEm

(3) T ®T H Y¥® 2000 ETEl F
o o suEm

(4) AT ¥ ¥ TAF 1000 AETET
o o sTEm

Following are the functions of the sub-

centre, except

(1) maternal health care

(2) adolescent health care

(3) water quality monitoring

(4) surgery of caesarian

fafafea & & uF ST FT FF TGS

g

(1) =7q FETE=T T@ATT

(2) frene TaTEeT AT

(3) T UrETT F AT

(4) Hetas a=d

16.

17.

18.

The ante-natal care is referred as the
care of the woman

(1) before pregnancy

(2) during pregnancy

(3) after pregnancy

(4) after puberty

THA-9d I@ATA A AlgAT H  IEATT
F w7 # "ada FFr Samar g

(1) w9 & 98t

(2) wofaEaT & SO

(3) TaTaeaT*F 4=

(4) AR F TT°

From following which is the high risk

case to be identified during ante-natal

care?

(1) short statured primi

(2) age of 25 years

(3) nausea and
pregnancy

(4) malaise during pregnancy

fafafea & & a9 &1 v¥wa-1@

@I & I feEd g 3y Aew

F AEAT & ?

(1) B s & T

(2) 259 # MMy

(3) THTAEATF IH HAAT 3T AT

(4) TATEEATF ICH T[T

Number of live per births per 1000

women in the reproductive age group in

a given year is called as

vomiting  during

(1) general fertility rate

(2) general marital fertility rate

(3) age specific fertility rate

(4) total fertility rate

U af § yowa 39 "gg # 9fd 1000
afgerst % grar gfa s R Shfaat
I AT H Fd 8

(1) |mHFT ST &

(2) =TT FaATfe® ISEA 37

(3) sy fafase go== =%

(4) T IS T
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20.

21.

22.

The percent of eligible couples
effectively protected against childbirth
by one or other approved methods of
family planning is called as

(1) couple protection rate

(2) couple fertility rate

(3) family planning rate

(4) total fertility rate

gfar R & aqaifed uF a1 o
FOH T agi & o0 & fawg gardy
e M B £ P B e B ) B 0 B S
FEATAT &

(1) T qrear =T

(2) =T IS =T

(3) ufam Fase ==

(4) T IS =TT

The beginning of the school health
service in India was in year

(1) 1906 (2) 1907

(3) 1908 (4) 1909

AT § THa @ qar 6 e 39
i H gL

(1) 1906 (2) 1907

(3) 1908 (4) 1909
Juvenile delinquency is defined as

(1) a child who has committed an
offence

(2) achild who has a higher IQ

(3) achild who has a lower I1Q

(4) achild who has a good behaviour

fRemT saeryr w1 T w7 H ufeariua

ERIIE DI

(1) = agr Sew soay s ia B
gl

(2) wwagr s 3g iy @ty 2

(3) Tmagr FEdr gz dfg +4 T
|

(4) uFagr s =7eEer a= 2

The term AIDS stands for
(1) Acquired
Syndrome

Immuno  Deficiency

(2) Anti Immune Deficiency Syndrome
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23.

24.

25.

26.

(3) Active Immune

Syndrome

Deficiency

(4) Assured Immune Deficiency Virus
AIDS T T 9 §

(1) wgmE s =T e
(2) vt zega fehifte= e

(3) uftea zwgm RhfEE= e
(4) wEE Tvgw REiRE= aew

The mode of transmission of HIV virus is
all of the following, except

(1) sexual

(2) blood contact

(3) maternal to fetal

(4) droplet

U e AT ATEIH F GHELO & qLET
Fafafea o 2 famm = F -

(1) ==

(2) T ETH

(3) wmq& o A

(4) famgs

For screening of cancer of cervix, one of
the following test is done :

(1) westo blottest (2) pap smear test
(3) ELISA test (4) widal test
waterr A WET FoFee At wRfET
oo fAuffea & a s ohgr G
ST g -

(1) Er=ie =

(2) "o =fae =

(3) ufermm e

(4) ez

The originator of the message in
communication process is called as

(1) sender (2) receiver

(3) channel (4) message

G R e B T B T s ol 7 e
SET ST § -

(1) S (2) e

(3) === (4) wzer

The audience, which may be a single
person or a group of people in
communication process is called as



27.

28.

29.

(1) sender (2) receiver

(3) channel (4) message
TAF, T TH & FHT AT AR FT THF
g gHar g, w1 "= uhhAr § e oww
¥ ST ST g ?
(1) S

(3) ==

(2) ffET
(4) w=ar

The presence of free residual chlorine
for a contact period in water to kill
bacteria and viruses must be of

(1) 1hour (2) 2hours

(3) 3hours (4) 4hours
Sty & fAuTy &1 A & foro qrer
¥ Ak safy % foru gEq srafoee
FAR T ufeafa T =TRw

(1) 1 e (2) 2=

(3) 3=e (4) 4=

The determination of both free and
combined chlorine in water with speed
and accuracy is called as

(1) widal test

(2) ultraviolet radiation

(3) orthotolidine-arsenite test

(4) orthotolidine test

T e ufigEar & @1 9+’ ® OgEd
dv wE FEE AT % Mt &
FET ST

(1) ez

(2) TerETHT AR

(3) sArATereTe sEATEe o5

(4) stTarfereTeT o%

From following, the solid waste term

includes :

(1) hospital waste

(2) diagnostic procedure waste

(3) industrial waste

(4) garbage, rubbish, sewage
treatment residue, dead animals

Fofofag § ¥ &9 41 3| Uit 99

H ot § 2

(1) sreuarer =T

(2) =i whRar srafore

(3) st sraferee

30.

31.

32.

(4) =T, e, Hes U= q99, qq
9L

Street refuse is called as

(1) refuse thatis collected from market

(2) refuse that is collected from street

(3) refuse that is collected from industries

(4) refuse that is collected from domestic

e Fwgst 7 Fer ST ¢

(1) Res ST aee & Usa A Srar
=l

(2) R ST 9g% & Useaq A

ST g |

(3) frwger ST s A uwwtG AT
STaT 2

(4) Freper S vy W & wER
T Smar 2

According to the biomedical concept,

the health has been viewed as

(1) equilibrium between man and
environment

(2) influenced by social, psychological,
cultural factors

(3) influenced by
political factors

(4) absence of disease

FEAERFA ATITUT F  AATY, TATET

T w7 ¥ FET TR

(1) AT T a0 & &= § gqad

(2) @THINSTR,  AATASATAE,  HIEHAH
FH T TATET

(3) enfdw v woifd®  wEET o
ERGIEE]

(4) TTHT srquteAfa

According to the ecological concept, the

health has been viewed as

(1) equilibrium between man and
environment

(2) influenced by social, psychological,
cultural factors

(3) influenced by
political factors

(4) absence of disease

qTRfEAfas sEgmen ®  AqE, e

A T W ey AT

(1) 9T AT 9@ F &= 7 "@qad

economic and

economic and
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(2) wHISE,  AAEHANAE,  HiEpAE
FEHRT T TATEAT
(3) enfdw siw  woifd®  wEET o
EENE

(4) TETHT AT

33. Which of the following are the macro
nutrients?
(1) Vitamins, minerals
(2) Proteins, Carbohydrates and Fats
(3) Niacin, thymin
(4) Ascorbic acid, tryptophen
efofea § & #19 & gga Tus a9 8 ?
(1) fEerm, @R s a@
(2) v, FTETgEse 3T 9T
(3) Ffm, amat=
(4) ueifdw ufee, feere

34. The daily requirement of protein for an
Indian adult is
(1) 1.0g/protein/kg body weight
(2) 2.0g/protein/kg body weight
(3) 3.0g/protein/kg body weight
(4) 4.0g/protein/kg body weight
T Faef K &fFF TET araegewar
FT g ?
(1) 1.0 gmm/IEA/ T afiT 9T
(2) 2.0 gmm/TEA/fFaT T 9
(3) 3.0 gm/IEA/fFaT T 9
(4) 4.0 gmm/TdA/FT ahT a

35. The essential fatty acids can be defined
as those which

(1) can be synthesized in the body
(2) cannot be synthesized in the body

(3) can be synthesized by cells of the
body

(4) can be synthesized by the lungs

arFeTd HEr ufde @ qivarfua

st € foree

(1) e # wgfoa G ST oawar g |

(2) ofix # wyfug 7@ T ST oasar

L
(3) efiv # FfewreAt gwr  E@HEA
frar ST "ar §1
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36.

37.

38.

39.

40.

(4) wwst g @i G Sr "
el

CPR stands for

(1) cardio pulmonary resuscitation

(2) chest pulmonary resuscitation

(3) cardio pulse resuscitation

(4) chin pulse resuscitation

CPR & T ATH #T g ?

(1) =iy gemmr fafeaesm

(2) = gemmdr fafRaeas

(3) =R vem faffaeaw

(4) =\ 9o RafEmees

During CPR, chest compressions should

be delivered at the rate of at least

(1) 15/min (2) 50/min

(3) 75/min (4) 100/min

CPR ¥ 29 =% &H99 & FH

FH o 3w ¥ fRar ST =g ?

(1) 15/f== (2) 50/f=

(3) 75/fF= (4) 100/ffwe

During CPR, the chest should be pressed
down at least

(1) 5cm (2) 7cm

(3) 9cm (4) 11cm

CPR (F.dt.sme.) * IW =rdar &r
FH F FH fhaar g&mET ST AR ?
(1) 5&.41. (2) 7#._T.

(3) 9&.#r. (4) 11 3.4

In tropical countries such as India, a
daily bath with soap and water is
essential, because the soap is a

(1) good surface cleansing agent

(2) good drying agent

(3) good moisturizing agent

(4) good alkalizing agent

AT SE ISR 30 H AEA Sl

I H OSET W\ SEeTE: g FFiteh
AT T g

(1) r==18dag 9l %E TS

(2) sr==THEE™ AT TS

(3) sr=aT AHIERE Tsie

(4) === AekeTTE USiE

The dirt which accumulates on the skin,
consists of solids left from



41.

42,

43,

(1) soil and sweat

(2) soil and dead epithelial cells

(3) moisture and sweat

(4) evaporated sweat, bacteria and
dead epithelial cells

T 9T AT B ATAT et § ST 3

TeTd g ar T a9 g0e |

(1) Rt eiw e

(2) TErsfiT qa STFAT FHATAHRTEA

(3) T s wEfET

(4) arfiga =T, SHEMp siw 99
ITFHAT FITLTHTAT

All of the following are included in bio-

medical waste, except

(1) generated during the diagnosis,
treatment or immunisation of
human beings or animals

(2) in the production or testing of
biological or in health camps

(3) research activities on human
beings or animals

(4) excreta generated by humans or
animals

Fafafea ad &1 aEEEET e §

artaer foRar T g, e o F -

(1) a7 a1 I & [EE, SWEr
7 EFERLT F IR A

(2) waTEw FAT H AT SfAw gLreAer AT
IaTET §

(B) AT AT WMl WX AqEIE
Tfafate=t =

(4) IISHT AT THAL FRT A TSI

In which of the following year the Bio-
medical Waste (Management and
Handling) Rules were amended in India?
(1) 1985 (2) 1990
(3) 1995 (4) 1998
fafafea & & g af & wwa @
Sa-ffrar F= (yEga i g=o)
et 1 s FRaT AT AT ?
(1) 1985 (2) 1990
(3) 1995 (4) 1998

According to Bio-medical Waste
Management Rules, the combustion
efficiency of the incinerators shall be

44,

45.

46.

47.

(1) 96% (2) 97%

(3) 98% (4) 99%
Sa-fafrer F= yawd FEEr &
aqar, Meest &t g fit oawmar
g ATRT -

(1) 96% (2) 97%

(3) 98% (4) 99%

The process of destroying all life
including spores is called as

(1) Antiseptic (2) Deodorant
(3) Sterilization (4) Detergent
ASToE Afgq FFT SEaq & qv FwA
# gfkar #1 FET STaT ¥

(1) véacfes (2) weeETE

(3) TwTTOATIA (4) Resiee

Which of the following is an example of

precurrent (prophylactic) disinfection?

(1) Disinfection of urine and faeces

(2) Cleaning of room after death of
patient

(3) Airing and sunning of rooms

(4) Pasteurization of milk

Fefofea & ¥ & 91 @adt (IREET)

FICTUITET T TF IZ(ET © ?

(1) 7= sfie 7 &1 dreroeree

(2) Twfrdr gog F ae FHL A gEE

(3) FETH gAT T g9 F AT

(4) T FT TTEETTESAT

Which of the following is a type of
physical method of sterilization?

(1) Sunlight (2) Cresol emulsions
(3) Autoclaving (4) Cetrimide
fafafea & ¥ &@ & [edtar &
T AR B g 2

(1) gt (2) T 9T

(3) Tt (4) Hfewre=s

From following what is the function of
the Kidneys?
(1) Excretion of feces
(2) Excretion of Perspiration
(3) Formation of urine
(4) Micturition
Fefafaad & %19 a1 @ &1 714 8 ?
(1) w1 ScEeA
Morning Shift
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49.

50.

51.

52.

(2) T= FT IS

(3) = fAmior

(4) =T

In human body the glucose is stored in the
(1) liver (2) kidney

(3) stomach (4) heart

AT 9T | TS Fgl Teid grar g ?
(1) =Fa (2) T&F
(3) ue (4) &=

The most superficial layer of the skin is
called as

(1) dermis (2) epithelium
(3) epidermis (4) sweat glands
(S i L = s o M R T 2 e T e 1 L
(1) =+ (2) =T

(3) srfer=rt (4) wa= tt

Which of the following factors of the
skin is protected by the harmful effects
of sunlight ?

(1) Sweat glands

(2) Melanin

(3) Sensory nerve endings

(4) Lymph vessels

TIATHRTLT F FIAGRE TAE H dAT ®
fafafea Fw & & F= |7 @<feq
gar g ?

(1) === wfaat (2) #=fA=

(3) "t o (4) e aer

The percentage of tribal population in

Haryana is

(1) 19.35% (2) 55.45%

(3) 26% (4) None of these

FRATT § SAefd SEear Taed g

(1) 19.35% (2) 55.45%

(3) 26% (4) =THE HrE T

Which one of the following state is not a
border State of Haryana ?

(1) Himachal Pradesh

(2) Uttar Pradesh

(3) Punjab

(4) Jammu & Kashmir

3 #= A1 w7 gRamm @ Heradt
TS TE B ?

(1) Rur=e g2 (2) ST TR

Morning Shift

53.

54.

55.

56.

57.

(3) dwma (4) SFR-=HTeHIT
At which holy place of Kurukshetra Lord

Krishna preached Arjun the preachings
of Gita ?

(1) Brahma Sarowar
(2) Kamal Nabh Tirth
(3) Prachi Tirth

(4) Jyotisar Sarowar

FEAT F hE T TIH T W@
FOU F S N IAQT H U<« fAT o7
5

(1) sy adEe
(2) FgeraTs
(3) =T et
(4) SFEET ARET

Where is Asia's biggest Cactus Garden
situated in the Haryana State ?

(1) Panchkula (2) Kaithal

(3) Faridabad (4) Gurugram
g s # ufdem & "geaw 99T
FFeE MEA Fgl Fud g 2

(1) =g (2) eret

(3) wirETaTE (4) =™

The most important river of Haryana
State is

(1) Yamuna (2) Ghaggar

(3) Saraswati (4) Markanda
g TS T HEH AgTaqel 99l §
(1) = (2) ==

(3) #HeEadT (4) wTEFUST

What was the capital of legendary
Emperor Agrasen ?

(1) Pehowa (2) Kalka

(3) Agroha (4) Naraktari
RIOR TEE SRET P ST R
ot oft 2

(1) wgrar (2) e
(3) et (4) aTwTEL
Haryana became Kerosene-free on

with the supply of Kerosene



58.

59.

60.

61.

under the Public Distribution System has
been stopped in all districts.

(1) April1,2017 (2) June2,2017
(3) July15,2017  (4) August6,2017
g g oot e #
CIESIEEIECEEt S L1 A S kL
RN G 3\ A B L
R g6 a9 Tm
(1) =181, 2017

(3) w=E 15, 2017

Who is Women and Child Development
Minister of Haryana ?

(1) Mrs. Kavita Jain

(2) Mr. Kamboj

(3) Nayab Singh Saini

(4) Manohar Lal

g & wfger vd amw A w5
FT g ?

(1) fwft Fwfear s+

(2) o =FrES

(3) wr= g &+t

(4) weTEE @

The first census of Haryana as a
separate state was held in

(1) 1961 (2) 1951

(3) 1981 (4) 1971

qUF ST ok ®T OH gRATT TsT A
ITH SOET FE gE ?

(1) 1961 (2) 1951

(3) 1981 (4) 1971

(2) S72,2017
(4) =mTEa 6, 2017

Where is the first Digidhan Fair of
country organised to promote cashless
transaction ?

(1) Gujarat (2) Haryana

(3) Punjab (4) Rajasthan
AT oI I FETAT & o formw er
w1 g =2fSres #er #gt smatea R
Y

(1) T (2) efamm

(3) d<Tar (4) TSt
Which state is at first position in country
in Aadhar enrolment in 0-5 age category
as per UIDAI May, 2017 ?

(1) Punjab (2) Rajasthan
(3) Haryana (4) Uttar Pradesh

62.

63.

64.

65.

UIDAI 95, 2017 % &ETE 397 § 0-531g
FA T MU ATHIRA ® II9 +IW U<
FIT AT AT 7 ?
(1) b=

(3) =fmm

was very famous classical singer
of Haryanvi dialect.
(1) Mika Singh (2) Baje Bhagat
(3) Parul Gulati (4) Yash Tonk
gAmET aet F Ouw o9 vHg
FATHHRA TTAF I
(1) i foe
(3) uTES IETE

Which one of the following is not a
comedian (belongs to Haryana) ?

(1) Johny Lever (2) Surinder Sharma
(3) Sunil Grover (4) Parvinder Singh
ghamm &1 B & ¥ F9 @ us

(2) TsteITe
(4) ST =9

(2) & s
(4) =orTw

FrafeaT 7E § ?
(1) i+ e (2) The=w ot
(3) H+= uraw (4) wfamx [ig

Which of the following pair, regarding
Chief of the Army Staff (India), is
wrongly matched ?
(1) General J.J. Singh - 2000-2002
(2) General Deepak Kapoor - 2007-
2010
(3) General V.K. Singh - 2010-2012
(4) General Dalbir Singh Suhag -
2014-2016
AT & 99 TF yq9 & d9g § &
¥ ¥ 7 g qfod g 2
(1) s¥e=r 9.9, &g - 2000-2002
(2) SWTr 9w FE - 2007-2010
(3) s ft.w. &g - 2010-2012
(4) SWwar =@ee fig g8 - 2014-
2016
is an Indian social and political
activist and leader of Bhartiya Gau
Raksha Dal.

(1) Avtar Singh Bhadana
(2) Pawan Pandit

(3) Shusma Swaraj

(4) Piyush Goyal

Morning Shift



66.

67.

68.

69.

AT % A1 Ud ToIds wrasr
TAT ARATT AT AT & F Agcasal g -

National Female Kabaddi team coach,
who is Dronacharya Awardee and
recipient of Padma Shri.

(1) Ramesh Kumar

(2) Sunil Dabas

(3) Anup Kumar

(4) None of these

T AwfEer FwAgr fwmoF A
EARIEIREE IR C ISR T
¥ qHIHT BT OE -

(1) waFA

(2) Tt e

(3) o TH

(4) =& % T

Ambala district of Haryana is in which
direction of Ghaggar river ?

(1) North (2) West

(3) South (4) East
ghamm &1 e Sem wvEw 99 &
O fRem & smaffaa g 2

(1) == (2) wef=mr

(3) =ferm (4)

Which one of the following was prime
centre of Harappan Civilization ?

o
Tt

(1) sSirsa (2) Panipat

(3) Hisar (4) Sonipat
TEWT gdr &1 9 § F w9 91 s
qeT Feg 9T ?

(1) B (2) oo

(3) fREm (4) &l
Chaudhary Charan Singh Haryana
Agricultural University is in which
district of Haryana ?

(1) Kurukshetra (2) Ambala

(3) Hisar (4) Chandigarh
ghamm & e G § =ted = [f&e
g FY Feafaemea g 2

(1) e (2) erearer

(3) feam (4) =vsrTE

Morning Shift
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70.

71.

72.

73.

in his book 'Kitab-ul-Hind'
referred to Kaithal as 'Kavital'.
(1) AlLBeruni (2) lbn-Batuta
(3) Fahien (4) None of these
T Aot EAw  CRaE-sd-
2 & Faq # Faqw dafda T g
|
(1) st ast

(3) T

(2) =zaraqar
(4) =HE FE AL

The village Assandh, is said to be the
capital of the Kingdom of Jarasandh,
lying in which district of Haryana ?

(1) Karnal (2) Sonipat

(3) Kurukshetra (4) Gurugram
aEg g RE SIEg w ST AT
T[T AT ST 7, ghEmm F R
S @8 2
(1) =TT
(3) Ter

(2) =T
(4) ==

A fair is held in Mandola in memory of

Baba Kesria on every year.
(1) 15t April (2) 31° December
(3) 1tSeptember (4) Diwali

WS § amr wefom £ sty ®
FT S IfT a9 gar g

(1) 13 =t (2) 31 fegw=< =
(3) 1faaex &1 (4) FraTedr®r
Who has been appointed as Lokayukta
of Haryana on April, 2016 ?

(1) N.K. Agrawal

(2) Preetam Pal

(3) Tripurari Sharan

(4) Manmohan Singh

a¥e, 2016 & R ghamm w
ArwrgEd AFa R T 2

(1) ©ua.%. smEra

(2) haw =

(3) P e

(4) wHTE foE



74,

75.

76.

77.

Find which is incorrect with reference to
Govt. of Haryana.

(1) Dept. of Architecture - Narbir Singh

(2) Dept. of Environment - Manohar
Lal Khattar

(3) Dept. of AYUSH - Anil Vij

(4) Allareincorrect.

ghamm e F el ¥ O #w A
TIq g ?

(1) argwar fawmr - aehe g

(2) wHfETer AW - AR 5]
(3) smrqw fawmT - sffe fosr

(4) =sft T

Femina Miss India World 2017 Manushi
Chhillar belongs to which district of
Haryana ?

(1) Karnal (2) Sirsa

(3) Jhajjar (4) None of these
wEaT e SRAT aeE 2017, wIOHr
e gfomT % e R & ddfE 2
>

('1) FLATA

(2) e

(3) ===

(4) =H& FE TE

Which [IT institute has successfully
developed an implantable bioartificial
pancreas ?

(1) 1T Guwahati (2) 1IT Bombay
(3) NHTIndore (4) 1T Delhi
e T @8 9 U&F  Irewead

FIATFHET  SRATNT  AFAATIAE  [Ahed

(1) T sETeret (2) T s¥=rg
(3) ITz=r (4) T faoeft

The highest point of India is
(1) Abu (2) Everest
(3) Kanchenjunga (4) Gurushikhar
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78.

79.

80.

81.

qd F Taq FA1 e &\ 47 g ?

(1) =g (2) wavE

(3) =T (4) EfrET
Who has built Taj Mahal?

(1) Akbar (2) Shah Jahan
(3) Babar (4) Shivaji
qATSTHEe foree awarar ?

(1) e (2) emeset
(3) @mEx (4) ferarsit

The leader of the Champaran Satyagrah
was

(1) Sardar Patel

(2) Jawaharlal Nehru

(3) Veer Savarkar

(4) Gandhiji

FORO §ARE % AdT FF I ?
(1) IT@=m T

(2) SETETTT TEE

(3) Nz A=

(4)  rtefist

Apple : Fruit : : (?)
Find the same relation.

(1) Monkey : Black
(2) Cucumber : Vegetable
(3) Flower: Tree
(4) Cream: Face
¥ oo %wq - oz ()
qO HEg AT FE
(1) ==z =T

(3) ®=:3%

(2) e Tt
(@) o

Choose the odd one from the following :

(1) Milk (2) Juice
(3) Biscuit (4) Water
o w1 77w fifsw -

(1) z= (2) =z

Morning Shift



(3) fafEwe= (4)

82. If D=4, COVER=63, then RING=?

(1) 78 (2) 48
(3) 38 (4) 42
gfe D =4, COVER =63, dr RING=?
(1) 78 (2) 48
(3) 38 (4) 42

83. In a line of 29 students, Rohit stood at
17" position from left and Karan stood
at 17" position from right. How many
students would be there between Rohit

and Karan ?
(1) 3 (2) 5
(3) 6 (4) 9

29 et it Faw & Ufga ad ¥
179 I 9 SR FAA I H A7 =
9T 9T, 9r Afgd i wH F A=
frae et g 2
(1) 3 (2) 5
(3) 6 (4) 9

84. The H.C.F. of two numbers is 23 and the
other two factors of their L.C.M. are 13
and 14. The larger of the two numbers is :
(1) 276 (2) 299
(3) 322 (4) 345
I HEITS W HEAdW  qHTIEdS
(HCF.) 23 g & 3% «@ad
qAIEad F & O 13 T 14 B |
IEAT A ¥ TS "7 ®T AT g ?
(1) 276 (2) 299
(3) 322 (4) 345

85. On selling 17 balls at * 720, there is a
loss equal to the cost price of 5 balls.
The cost price of a ball is
(1) 45 (2) '50
(3) '55 (4) ‘60
17 9 #7720 § g9 ¥ 577 AT AT
Fraa Rraar G« gar & ar uF 9
# FT FWT FAT RO ?
(1) ~45 (2) 50
(3) *55 (4) 60
Morning Shift
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86.

87.

88.

Eight people are planning to share
equally the cost of a rental car. If one
person withdraws from the
arrangement and the others share
equally the entire cost of the car, then
the share of each of the remaining
persons increased by

1 1
1) — 72y =
()7 ()8

1
(3) Yy (4) None of these
fFa a ft te F f Fag s T
T §oAfedr dRd g | AR uE

aaft fF ze ST £ s A ¥ oaw
£

ARM H T FT 9WT FRaar gz ?

(1) 2 %

8

(4) =T FE AL

1
7
1
(3) 5

The value of
0.1x0.1x0.1+0.2x0.2%x0.2

0.2x0.2x0.2+0.4x0.4x0.4

is

(1) 0.0125 (2) 0.125
(3) 0.25 (4) 05

0.1x0.1x0.14+0.2x0.2x0.2

0.2x0.2x0.2+0.4x0.4x0.4

F T FAT g ?

(1) 0.0125 (2) 0.125
(3) 0.25 (4) 05

During winter in cold countries, the
is mixed to melt the ice on
the icy roads.

(1) salt

(2) cChlorine

(3) cCarbon dioxide
(4) water



89.

90.

91.

92.

T e ¥ gfear F oA Tt agat
W a% fiwaw ¥ oo
T STar g

(1) 9=

(2) =ra=

(3) =T eTEEAEATE S

(4) s

have

In general, Comets

orbits.

(1) Elliptical

(2) Highly elliptical

(3) Circular

(4) Parabolic

AATATAT g Al FATE

gl g |
(1) svsm™R (2) =fF se=F
(3) == (4) TFatT

Digestion of food is completed in the

(1) small intestine

(2) large intestine

(3) stomach

(4) liver

SIS AT T FE T Er 7 ?
(1) = s

(2) a=Taa

(3) =mHTIT

(4) =¥

Choose one option that expresses the
meaning of the sentence :

The act of violating the sanctity of the
church

(1) Heresy (2) Desecration

(3) Camouflage (4) Sacrilege

Choose one option that expresses the
most appropriate meaning for the idiom
out of four options :
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93.

94.

95.

96.

97.

98.

Hammer and tongs

(1) white coloured

(2) to be unsafe

(3) tobreak up

(4) with all one's strength

Fill in the blank with most appropriate
preposition :

The jug is fill milk.
(1) of (2) with
(3) in (4) upon

Fill in the blank with proper article :

She was wearing old dress.
(1) a (2) an
(3) noarticle (4) the

Choose the pair of words that best
expresses a relationship similar to that
expressed in the pairs of words in
capital : JOY : ECSTACY

(1) like : dislike
(2) interest: fascinate
(3) information : privacy

(4) join : conjoin

o d & =i sz 7 -
(1) & (2) T
(3) smamE (4) wmw

‘Tefoa T gom |JawT =7 aEie &
oo Sfa a=2 §
(1) ==

(3) @aEwTH

(2) wfrega

(4) Har

e d & #9 # adq4r 72 g 2
(1) =emea
(2) =memrha

Morning Shift



(3) w=mrha
(4) <rerta

99. AT «eF FT THAHATAT | -

(1) rar, "2, =g
(2) fEemaT, st BRAE
(3) faw, qa=, far
(4) waTHY, wat, 9rx

100. ‘fFerrersrr w7 fAenw 9w ¥ -

(1) =rer (2) =rwrg
(3) «fer (4) Tew

Morning Shift
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